B sohe € Wiits o 5-digit number with
& In the ones place,
3 in the thousands place,
1 in the hundreds place,
8 in the tenthousands place,
E ZEYEL =) =(d =3 = 6 and O in the tens place,

83106
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A (3= 4+ 18+ 3= 18

b. [?XIE+3]I—2D=£

1B Math Boxes

B} whieh expressions show 3,245 in £ Find the volurme of the prisim.
expangded form? Use the formula ¥ =1 % w x h

Fill in the circle next to all that apply.

(A) 52 % 1,000+ 4 % 104 8% 1

8 1s]

@3 [L000s] + 2 [100s] + 4 [10s] + T—

(€)3 = 1,000 + 2 = 100 + 4 = 10 4

ax1
Volume = 2 * 2 ¥ 4 —16 units®

(D)3 % L0° + 3 % 10° + 4 % 10 +
B x 100
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E Wirlte i exponential notatlon. a Asher used 5 apples to make
o apple o, To make a jar of

4
a. 10 x 10 x 10 = 10 10 applesauce he needed (wice as

B 40 % 10 % 10 103 many apples as ha neaded for the
: pie plus two more, Write &n expression
g, I0*x 101D x 1D % 10 % 10 = that models hiw many apples Asher

nesded for the applesauce,

10
10 % 10 % 10 % 10 % 10 Sample answer:
5 x2)+2
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